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Microsoft.VisualStudio.TestTools.UnitTesting;
System;

System.Collections.Generic;
System.Diagnostics;

System.Ling;

System.Text;

System.Threading.Tasks;

TestCommon;

namespace A6

{

[DeploymentItem("TestData")]
[TestClass ()]
public class GradedTests

{

[TestMethod(), Timeout(200)]
public void SolveTest_Q1MoneyChange ()
{

RunTest (new Q1MoneyChange("TD1"));
}

[TestMethod(), Timeout(1000)]

public void SolveTest_Q2PrimitiveCalculator()

{

RunTest (new Q2PrimitiveCalculator("TD2"));

}

[TestMethod (), Timeout (200)]
public void SolveTest_Q3EditDistance()
{

RunTest (new Q3EditDistance("TD3"));
}

[TestMethod (), Timeout (200)]
public void SolveTest_Q4LCSOfTwo ()
{

RunTest (new Q4LCSOfTwo("TD4"));
}

[TestMethod(), Timeout(600)]
public void SolveTest_Q5LCSO0fThree()
{

RunTest (new Q5LCSOfThree("TD5"));
}

public static void RunTest(Processor p)

{

TestTools.RunLocalTest("A6", p.Process, p.TestDataName, p.Verifier);

}
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A6

{

public class Q1MoneyChange: Processor

{

private static readonly int[] COINS = new int[] {1, 3, 4};

public QiMoneyChange (string testDataName)

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long>) Solve);

public long Solve(long n)
{
// write your code here
throw new NotImplementedException();

: base(testDataName) { }
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using System;

using System.Collections.Generic;
using System.Lingq;

using System.Text;

using System.Threading.Tasks;
using TestCommon;

namespace A6

{

public class Q2PrimitiveCalculator : Processor

{

public Q2PrimitiveCalculator(string testDataName)

public override string Process(string inStr) =>

: base(testDataName) { }

TestTools.Process(inStr, (Func<long, long[]>) Solve);

public long[] Solve(long n)
{
// write your code here
throw new NotImplementedException();
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using TestCommon;

namespace A6

{

public class Q3EditDistance : Processor

{
public Q3EditDistance(string testDataName) : base(testDataName) { }

public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<string, string, long>)Solve);

public long Solve(string strl, string str2)
{

// write your code here
throw new NotImplementedException();

Longest Common Subsequence of Two Sequences ¥

S g 1 55 ool Sidse SubSequence ¢y Sal; Jsb Dynamic Programming b wsb Ll 51> Sequence s « 4S5 8

@ g3 (6359 & god (9>

19 0 17 13 6 3
16 19 0 13 10 18 1 3

s 50 313 51,8 LCSOfTwo WS s « Solve @b): lyss> r:ﬁ),il\ wb b s S golas

using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using TestCommon;

namespace A6

{
public class Q4LCSOfTwo : Processor
{
public Q4LCSOfTwo(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[], long[], long>)Solve);
public long Solve(long[] seql, long[] seq2)
{
// write your code here
throw new NotImplementedException();
}
}
¥
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using System;

using System.Collections.Generic;
using System.Ling;

using System.Text;

using TestCommon;

namespace A6

{
public class Q5LCSOfThree: Processor
{
public Q5LCSOfThree(string testDataName) : base(testDataName) { }
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long[], long[]l, long[], long>)Solve);
public long Solve(long[] seql, long[] seq2, long[] seq3)
{
// write your code here
throw new NotImplementedException();
¥
}
}
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